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1. In rabbits black (B) fur color is dominant over white (b) fur color. If a heterozygons black rabbit
breeds with a homozygous white rabbit, what are the chances of the offspring being black? White?
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2. In corn having pigment (red or purple) is dominant to have non-pigment (while or yellow). Ifa
heterozy gous pigmented com is crossed with a homozygous non-pigmented corn, what is the

probability of having white or yellow (non-pigmented) corn? What is the probability of having red or
purple {pigmented) corn?

J - \

Plpigpronted) = %; N 5 = 50/
P E;) | @(ﬁowiﬁlﬁmw!eﬂ)':t\ "L:,S’:—S@/f
P .

3. A black colored mare with a trotting gait (Bb'1't) is bred by a chestnut colored stallion with atrotting
gait (bb1t). How many possible outcomes are there? What are the chances that the foal is chesmu_t_@; b)
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4. In cattle black colored fur is dominant to red colored fur and polled (no horns) is dominant to having
horns. If a black, polled (BbHH) bull mates with a red, polled (8dHh) cow, how many possible

outcomes are there? Whal are the chances that the offspring are black and polled? What are the
chances that the offspring are red and polled?
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5. Whalt 1s the probability of drawing a red Ace in a standard 52-card deck?
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6. The catlle on a farm have coloring of black, black & white, red, red & whitc. They are also
horned or polled. How many different combinations of offspring could the farm raise?
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7. A dic is rolled and a card is drawn from a 52-card deck. Find the probability of getting a number greater
than 3 and a number card.
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